

Owner/Authorized Managing Officer

.. RAMOS

ool eugl

2

AND NO

KBL

REDVOLKS ENTERPRISE,

WITNESSES

NATIONAL IRRIGATION ADMINISTRATION

(AIN

Brgy. Cavit, Laoag City, Ilocos Norte

CZARINE CESS A. ALBORNOZ

Sr. Accounting Processor

WEYNARD JOSEPH P. Acting Division Manager

contractor)

REPUBLIC OF THE PHILIPPINES

ILOCOS NORTE IRRIGATION MANAGEMENT OFFICE

WHEREAS, the Entity is desirous that the Contractor executes Bolo RIS, Package 1; Modification of Intake; RRENIS; CY 2023, Dumalneg, Ilocos Norte under Contract No. INIMO-2023-01-002 (hereinafter called the "Works"), and the Entity has accepted the Bid for the said project in the amount of ELEVEN MILLION SEVEN HUNDRED SEVENTY-SEVEN THOUSAND FIVE HUNDRED SIX & 16/100 (Php 11,777,506.16) by the Contractor for the execution and completion of such works and remedying of any defects therein.

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1 In this agreement, words and expressions shall have the same meanings as respectively assigned to them in the Conditions of the Contract hereinafter referred to.
- 2 The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act. No. 9184 shall be deemed to form and be read and construed as part of this Agreement, *viz*.:

Philippine Bidding Documents (PBDs);

- i. Drawings/Plans;
- ii. Specifications;
- iii. Bill of Quantities;
- iv. General and Special Conditions of Contract;
- v. Supplemental or Bid Bulletins, if any;
- b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. <u>Winning bidder agrees that</u> <u>additional contract documents or information prescribed by the GPPB</u> <u>that are subsequently required for submission after the contract</u> <u>execution, such as the Notice to Proceed, Variation Orders, and Warranty</u> <u>Security, shall likewise form part of the Contract</u>

Bolo RIS, Package 1; Modification of Intake; RRENIS; CY 2023 INIMO-2023-01-002



SUR

REDVOLKS ENTERPRISE

Contractor

Owner/Authorized Managing Officer

BV: RAMIL L. RAMOS

Dreip

PORLOR CIPY

Brgy. Cavit, Laoag City, Ilocos Norte

CZARINE CESS A. ALBORNOZ Sr. Accounting Processor A

CHUSEN

REPUBLIC OF THE PHILIPPINES NATIONAL IRRIGATION ADMINISTRATION Ilocos Norte Irrigation Management Office

 In consideration for the sum of ELEVEN MILLION SEVEN HUNDRED SEVENTY-SEVEN THOUSAND FIVE HUNDRED SIX PESOS & 16/100 (Php 11,777,506.16) or such other sums as may be ascertained. Remar Construction agrees to execute Bolo RIS, Package 1; Modification of Intake; RRENIS; CY 2023 in accordance with its Bid.

ltem No.	Description	Unit	Quantity	Unit Price (Php)	Amount (Php)		
Ι.	TEMPORARY WORKS						
A.	Mobilization & Demobilization of Equipment	l.s.	1.00	73,490.00	73,490.00		
В.	Temporary Facility (Bodega	l.s.	1.00	75,435.00	75,435.00		
C.	Project Billboard/Sign Board	unit	1.00	5,875.00	5,875.00		
11.	CONSTRUCTION SAFETY AND HEALTH						
A.	Construction Safety & Health	l.s	1.00	74,865.00	74,865.00		
111.	DIVERSION WORKS						
A.	Care of Water	mos	3.00	104,375.00	313,125.00		
B.	Construction of Coffer Dam	cu.m	787.50	295.00	232,312.50		
C.	Structure Excavation (Mech)	cu.m	1,155.68	142.50	164,684.40		
D.	Structure Excavation (manual)	cu.m	115.57	283.75	32,792.99		
E.	Sand and Gravel Bedding (Manual)	cu.m	106.70	790.00	84,293.00		
F.	Concrete Demolition – Slabs and Walls	cu.m	132.62	1,005.00	133,283.10		
G.	211 kgs/sq.cm. Reinforced Concrete – others	cu.m	41.45	9,900.00	410,355.00		

NATIONAL IRRIGATION ADMINISTRATION (NIA)

WINDEPH P. UNTALAN Acting Division Manager



211 kgs/sq.cm

REPUBLIC OF THE PHILIPPINES NATIONAL IRRIGATION ADMINISTRATION ILOCOS NORTE IRRIGATION MANAGEMENT OFFICE

cu.m

cu.m

cu.m

cu.m

kgs.

kgs.

cu.m

cu.m

l.s

l.m.

l.m.

sq.m.

I.S.

303.32

467.48

71.06

8.36

9,372.35

9.372.35

42.74

345.40

7.20

6.82

7.48

1.00

1.00

Owner/Authorized Managing Officer Reinforced H. Concrete - Pier, Footing & Barrel an nashir By: RAMIL 170 kgs/sq.cm. Plain Concrete -1. Concrete Bloks 170 kgs/sq.cm. Plain Concrete J. 70 kgs/sq.cm Lean Concrete K. Furnishing & Stockpiling of L. **Reinforcing Steel** Bars Cutting, Bending & Installation of Μ. **Reinforcing Steel** Bars **Boulder Fill** N. Protection Works -О. **Gabion Works**

REDVOLKS ENTERPRISE

WITNESSES

ontractor

Brgy. Cavit, Laoag City, Ilocos Norte CZARINE CESS A. ALBORNOZ Sr. Accounting Processor A

NTALAN

WEYNARD JOSEPH P. Acting Division Manager

NATIONAL IRRIGATION ADMINISTRATION (NIA) Procurement & Installation of 10cm

Perforated Drain

Procurement & Installation of 5cm

Procurement & Installation of Filter

Procurement &

Concrete Epoxy

Procurement &

Installation of 2"

dia. Sch. 40 G.I. Pipe Railings

Application of

dia, PVC

dia. PVC Weepholes

Drain

Pipe

Ρ.

Q.

R.

S.

Τ.

3,002,868.00

4.014,484.50

610,227.75

37,306.50

726,357.13

152,300.69

73,405.95

1,177,814.00

2,925.00

1.295.80

6,171.00

4,300.00

96,250.00

9,900.00

8,587.50

8,587.50

4,462.50

77.50

16.25

1,717.50

3.410.00

406.25

190.00

825.00

4,300.00

96,250.00



REPUBLIC OF THE PHILIPPINES NATIONAL IRRIGATION ADMINISTRATION ILOCOS NORTE IRRIGATION MANAGEMENT OFFICE

U.	Cut, Bend & Installation of Dowel bars	l.s.	768.83	95.00	73,038.85
V.	Fabrication & Installation of Screen at Gate House	l.s.	1.00	198,250.00	198,250.00
				TOTAL	Php 11,777,506.16

4 The National Irrigation Administration, Ilocos Norte Irrigation Management Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS WHEREOF, the parties thereto have caused this Agreement to be executed the day and year first before written.

PROCURING ENTITY:

WEYNARD JOSEPH P. UNTALAN Acting Division Manager

CONTRAG JOY M. Pascual

L. RAMOS **Owner/Authorized Managing Officer Redvolks Enterprise**

WITNESSES:

CZARINE CESS A. ALBORNOZ

Sr. Accounting Processor A Brgy. Cavit, Laoag City, Ilocos Norte

JEMELSON SHADE POSCHOL Taklac Ciry



REPUBLIC OF THE PHILIPPINES **NATIONAL IRRIGATION ADMINISTRATION** ILOCOS NORTE IRRIGATION MANAGEMENT OFFICE

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES) LADAG CITY) S. S.

Before me, a Notary Public, for and in ________, Philippines, personally appeared the following:

WEYNARD JOSEPH P. UNTALAN Acting Division Manager NIA –Ilocos Norte HMC

No paschal MIK BH CAU RAMIL L. RAMOS

Owner/Authorized Managing Officer Redvolks Enterprise

INIMO-2023-01-002

Valid ID No. <u>PRC No. 0109307</u> Issued at: <u>Sampaloc, Manila</u> Valid until <u>December 28, 2023</u>

Valid ID No. DR WERE LICENCE CII- 18-0/6168 October 29,2092 Valid until:

known to me and to me known to be the same persons who executed and signed the foregoing instrument and who acknowledged to me that the same is their true and voluntary acts and deeds, and that of the agency/entity they respectively represent.

This instrument is a Contract Agreement for **Bolo RIS**, **Package 1**; **Modification of Intake**; **RRENIS**; **CY 2023**, Dumalneg, Ilocos Norte under Contract No. INIMO-2023-01-002 consisting of five (5) pages including this page where the acknowledgment is written. Page 1, 2 & 3 are signed on the left margin thereof and pages 4 and 5 are signed on the corresponding spaces provided thereof by the Parties and their instrumental witnesses and sealed with Notarial Seal.

WITNESS MY HAND AND SEAL this d	ay ofAPR 17 2023, 2023 at
Doc. No. 334 ; Page No. 44 ; Book No. 30 Series of 103	Notary Public ATTY ED Y COMPLETE CO Until PCR No. Issued at on Internet of the second
Bolo RIS, Package 1 Modification of Intake; RRENIS; CY 2023	Page 5 of 5